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(6 5 A —Hby= & Hod BB A2 7= 0 7 60 %, 28] 7= 5 5 40 %6, B 1817 & 1 A A
T 9500, L8 77 i B A M 3R 2 90 26, SR XAt 7= i v B AL A BB — 2 Ay B A% i 1 AE
(R 3 A= — {F 2 B ZE ] 7= a7 WA = “Jh B — R & = 5. ik
B="H B — 2 S A% a7 O B A
P(A)=60%,P(A)=40%,P(B|A)=95%.,P(B|A)=90%.
YR /N W
P(B)=P(A)P(B|A)+P(A)P(B|A)
=0.6>X0.9540.4X0.90=0. 93.

FELI(MMHHARK) & ALA - A o AR TCRD 2 WP B A M2 14,

P(A)>0,i=1,2. .0, S5k BCUA, U4
i=1
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MRS RO i

P(AOP(B LAD (1-4)
2 PADPMB| A
=1

A A-DHFR AN TRt (Bayes) 23 (EOIEAR A2 5 MR 220 B2 b 30 B2 52 00
ALY,

P(A; | B) ZAE R E 15 51 45
#E,.PA|B) N EHRHEEE.

DUt 3 4 sCRA AR H Tz iR

“BRAVIERMBEIRT A BIBER IR P(AD SRR

(5] 61  AEfl 5 v 4R MK A 7™ it v BE AL B — 7 e B & 46 SR 6 o2 1R

R[] A2 7 A A K.
[#2) RS ZORAMER PCAIB) , U 2 A5
P(A)P(B|A)
P(A|B)= = —
Al P(A)P(B|A)+P(A)P(B|A)
0.6>0.95 ~0. 613,

T 0.6X0.9540. 4X0. 90

K617 DO T A7 R —Fp 2, 7 43 03l o = BB 35040.3000.20 0 F1 15040, H.
POAS A 72 7 i B R B A% R 4350 R 206300 400 A 506, A Dk dit 7 oh AR B — {4, TR
(DERAGH GBI (2) LB ARG i B 3 — DA A IR,

(&Y & B="fEH— ™ AR SR ah 7 A= R GRS ¢ D N 8™ i

(121929394%}”\”
P(A,)=0.35,P(A,)=0.30,P(A;)=0.20,P(A,)=0.15,

P(B|A,)=0.02.P(B|A,)=0.03.P(B|A,)=0.04,P(B|A,)=0.05.
T
(1) A A
1
P(B) = > ]P(ADP(B | A)
i=1
= 0.35X0.0240.30X0.03+0.20 X0.04+40.15X0.05
= 0.031 5.
(2) iy DU g7 4 A
PCADPB | AD  _ 0.35X0.02 1 ooy

DIPADPB | A) )
i=1
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T mpem

(EmEnase
— BB T RS P(BIA)Y 5 P(B) 7R [ 1Y, B 78 3t 2 4 5k 4
BT KR P (Bl A F AR P(B) , X $H/F B EES5ER %
FALE STUNT e S JIIE SR Yy R i & E s

EX 1.5 WAYSBNHEMN.

P(AB)=P(A) « P(B)
BT, MBS A 5344 B M E ST

1A 1.5, ] DA AR A HORE S5 ST

EIE 1.4 & ABIWFEM,H PA>0,01 A5 BAHE S R &2 P(B|A) =
P(B).

iERA W ABMEMSLL BN P(AB)=P(A) « P(B), 1l

P(B|A)=P(AB)/P(A)=P(A) « P(B)/P(A)=P(B);
Rz . % P(B|A)=P(B),
P(AB)=P(A) « P(B|A)=P(A) « P(B).

BAR.H P(B>0 B, @8 1.4 PR REXMA MR P(A|B)=P(A). 1fi 4 P(A).
P(B)EMH A hER i ABCA } ABCB 54, Wi 4 P(AB)=P(A) « P(B)
ST X F MR B F R S AL R A ST

MR 1.2 (DARAREFHM S SALAT S F T 5

(2) ZHFMFABMEM WA 5B,A5 B, A5B 4 lH H 57

ERR (D) BRI 5

(2) 1 F A=AB+A B
P(A)=P(AB)+P(AB),
M A5 B At
P(A)=P(A) + P(B)+P(AB),
o P(AB)=P(A)—P(A) » P(B)
=P(A)[1—P(B)]=P(A) « P(B).
T A 5B AHE A 37 280 nT E B oAl 2538

NN A Sk ST Y S

EX 1.6 MFHEHLEMF A LA LA LE T 4 AERX R MK A LA LA EHE
Th ST HY.

20 T,
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P(A,A))=P(A,)P(AY) (1-5)
P(A,A;) =P(A, )P(AS)J
P(AAA))=PADP(A)P(AS (1-6)

A A=A A ORAT L RIS (1-5) Sz AR Av Ay W Ay 2l ST Y.
LR AR L S ) E P EOR A4 AR SR I RS L B — R Al R S B T X

(611 &8 — S E Nk, B 1.2.3 4 W T4a6,1.2.3.5 MeRm T A
f6,1.6.7. 8 meE g T RE,H AB,C RRFEH— MIE/\E%tHIAéI\E‘%@E@%#F,AU

1
P(A)=P(B)=P(C)= —§ -
P(ABC)—*—P(A)P(B)P(C)

{H

P(AB)Z%?E%:P(A)P(B).

FRATAT LUK AR B ST RS BT R 2 A F R
EX 1.7 WA NEMFA LA, AL R FAE R IE R rC<<k<n) LI}
1<i,<<ip,<<-<ir<n H
P(A, A, A, )=P(A, DP(A, )P(A)

BOST S WIFR A Ay Ay eee VA, RAH B RS Y.

MAE 1.7 ANHER W n AFEME ML &R C+C e+ =
A+D"—=C—C,=2"—n—1 N F B L. B, Y n=3 BB A 2° —3—1=4 /5§
fﬁﬂﬁfﬁl‘aj

MM 2 ASEAE R F L 5 C AT P(AA) =PA)P(A) (iFjsi.j=1,,
n) {7

af UL i 2 A SR B ST T DU R eI B SR SL . ] s 2 A R R R S AN —

I B AT A B ST

ZUJL‘
(auy

K61 2 A P e 0 2 S 3 o — ZREOHL i A M o h BHL B AR O 0. 8, Z il vk
FOHLIYBER Sy 0. 7. R Bl # o b B .

(21 & A FR“ Mt Bl B Fon ™ S Pyl IR A BpLal i o ix — e 1 2
AUB. 1T A,BHHE M7, 8 P(AUB)=P(A)+P(B)—P(AB)=P(A) +P(B) —
P(A)P(B)=0.8+0.7—0.8X0.7=0. 94.

(6] 3) nTH—FITE L =8 T 88— = =8 TP MRS R0k 2%,
39055 %0 AR E 45 T8 TP A& AN RE 0 0[] 0 T 1 3k i 2 (9 Tk T R 22 00




B BEHLFIER IR TN

URY i A= (30T B P U A, = (55 73 TR ) G = 1,2,3), A
A=UALH A Ay AT Bt

P(A)=P(A, UA, UA)=1—P(A)P(A,)P(A)
=1—(1—0.02)(1—0.03)(1—0.05)=0.096 93.

(6 41 B BA AL b A T R0 2 B 0. 406, IR A 100 A A LT » 3R
WML A AT B AR R

(2 " A BREENAMBEREEFRFE(k=1,2,-+,100), M 7] LLIA K iE A,
MEMST, H P(A)=0.004(k=1,2,+,100). F 2R XK

100 100

P(>)A)=1— [ P(A) =1—0.996" = 0. 330 2.
k=1 k=1

[=manmsnm

TEREZR A b H7E [RVRE 00 R o 2 R4 7 6 (1 502 0 280 ik Oy 9 57 3R 06 7 BB, R 4T
YR 5 AT ] — YR B v 4% 45 552 2 2 1 T B M S A2 A 4% Yk 3ot 0 20 S o A IR L I B
WU 7 Rk 62 A T 7 B A 3 244 4 U 6 AT P TT BB S SR L B n EE B R
RIS 0 KT TSI 2 DR T S AN B, 36T 0 EAL
SR L LA AT i

EE 1S WE-KIRE M A RAERBRR p(0<p<<D)UTE n FAHLFL %
A BT b IR IR Yy

P,(k)=Ctptqg" *(F=0,1,2,,n;q=1—p).

R WA G=1,2, ) FoR“FE A S Wk & 47,0 P(A)=p,P(A) =
1= p=q(=1,2, ). HOF A TEIA R L YN ) do s iy R A TE A n—k R 0
8 jusjosr s u PR RIS H P (A, A, A, A, A, A, ).

H i 4% AR L ST T L

P(A, A, A A A, A

J

)=P(A, YP(A, )P(A YP(A, YP(A;, )P(A, )

k

:p'P""'])'Q’Q""'q:pkq”",

M TR A LAk YRR n Y 9 0L B IAT C Bl A A7 B X )
AR - ELRAn T B R phg L IR A T YRS R e R BIRER
P,(R)=Cip'q" "(k=0,1,2,,n).

(65151 AL ATl A5 fm e 1 000h DA EAHERJy 0. 2,385K 3 AT AEfE ] 1 000h
A mZA 1 IR R,

[#R) & A FR“ITHWAEME ] 1 000h 5 RAIR”, U P(A)=0.2,P(A)=0. 8; A 7 L
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W 3 AR L AR O — KT v] LA O — U 5 4 0l g A A T RESE R . A &
AR AT AR IR 5 AR AT U TR HLAS AT I 2 75 5 TR B A o PR ] 3 56 A )
HiE BE 1.5 0L sk MR
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(5] 6] —RMFEM SR HE T CMH—ZHFN 0.3, A PEEYL A& 20 H . (A
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(A2 fh P it e 748 00 2 S AR L i b A (20 B AR X AR /N el K il A 20 H
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=1—0.7"a1—0.000 797 920. 999 2.

TEAG H L frdh 20 R R & — 5 E 3R P(A) =0. 000 797 9, RN E 5 5r 2\, SLik R
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(617 — D ATFITAbIEE o LR I AU — JE B REBEIT JT 3 B 1] - At B H1L b 32
W —BH T ED%K%?RM%E‘J%%W&#ﬂ SRIZNAES & RITIF TR,
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1.5 T 5145 BE AL 3t 56 i A A 25 [a].
(D10 Hy=fp g 3 Juhh s BN EBC— 2 AN R RE 206 3 FOR S AR L 3g 5%
b B VR K5
(A== E RS E] 10 1815 & 10 8 AR 7= 7= 5 B R 5
(3) N —HE KT 78 v Bl ML H 32 HF — AT 36 I 10 54
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(5) 78 5L [ AT B — 5, 18 SR B 1Y A
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